
SG390−4A, 1; cf1=0.90; nt=0.18; nx=1.0

System: ORS18aS.DAT
Beziehung CIELAB (L*, a*, b* ) und adaptiertes (a) CIELAB ( C*ab,a, L* )

l* =( L*  − L*N ) / (L*W − L*N )

a*a=a* − a*N − l*  [ a*W − a*N ]

b*a=b* − b*N − l*  [ b*W − b*N ]

C*ab,a=[ a*a
2 + b*a

2 ] 1/2

CIELAB-Bunttonwinkel: 
hab,d=[37, 0, 44, 353, 44, 0]
hab,dx=[37, 96, 150, 236, 305, 353]

a*a=C*ab,a cos hab

b*a=C*ab,a sin hab

b*a

Buntheit 
a*a

−100      100

−100 

 

 

100



SG390−4A, 2; cf1=0.90; nt=0.18; nx=1.0

System: ORS18aS.DAT
Beziehung CIELAB (L*, a*, b* ) und adaptiertes (a) CIELAB ( C*ab,a, L* )

l* =( L*  − L*N ) / (L*W − L*N )

a*a=a* − a*N − l*  [ a*W − a*N ]

b*a=b* − b*N − l*  [ b*W − b*N ]

C*ab,a=[ a*a
2 + b*a

2 ] 1/2

CIELAB-Bunttonwinkel: 
hab,d=[37, 0, 44, 353, 44, 0]
hab,dx=[37, 96, 150, 236, 305, 353]

a*a=C*ab,a cos hab

b*a=C*ab,a sin hab

b*a

Buntheit 
a*a

−100      100

−100 

 

 

100


